Percentage Check-up Test                                              Name:_________________________
1. A pair of football boots normally cost £60.  In a sale they are reduced by 25%.

Jim decides to buy a pair of them.

a)  How much does Jim save by buying them in the sale?__________
b)  How much does he pay for the football boots?__________
2. Mr. Smith, owner of Smith Supermarket, decides to increase all prices in his shop by 20%.  What will the new prices of the following items be?

a)  Sausages costing £1.50   _____________

b) Ice-cream costing £2.60 _____________
c) Box of chocolates  £4.80___________
3. Terry sees a new Ferari which is on offer with 33 ¹⁄₃% off.  It normally costs £24,000.

a) How much does Terry save when buying the car?__________________

b) How much does he pay for the car?____________________
4. Bob puts £1500 into a bank account which gives 10% interest after one year.  
a) How much interest does he gain in one year?________________

b) How much does he then have in his account after one year?_________________

5. Sam puts £300 into a different bank account which gives 5% interest after one year.  

a)  How much interest does he gain in one year?________________

b)  How much does he then have in his account after one year?_________________
6. Mr and Mrs Brown bought a house for £120,000.  When they decided to sell the house a few years later, it had increased in price by 35%.  
a)  How much had the house increased in price?_______________________

b)  How much did they receive for the house?  ________________________
